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Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.

आठ व्यक्ति चार मंक्तिलों वाली एक इमारत में रहते हैं िहााँ 

सबसे क्तिचली मंक्तिल की संख्या 1 ह,ै उसके ठीक ऊपर वाली 

मंक्तिल की संख्या 2 ह ैऔर इसी क्रम में आगे बढ़ते हुए सबसे 

क्तिचली मंक्तिल की संख्या 4 ह।ै प्रत्येक मंक्तिल में दो फ़्लैट, 

अर्ाात फ़्लैट-A और फ्लैट-B हैं। मंक्तिल-2 का फ्लैट-A, 

मंक्तिल-1 के फ्लैट-A के ठीक ऊपर ह ैऔर मंक्तिल-3 के 

फ्लैट-A के ठेक िीचे ह।ै फ्लैट-B, फ्लैट-A के पवूा में ह।ै

P से िीचे कोई िहीं रहता ह।ै P और J के बीच में केवल दो 

मंक्तिलों का अंतर ह।ै P और J अलग-अलग फ्लैटों पर रहता 

ह।ै M, N के ठीक पवूा में रहता ह।ै R, N के ठीक िीचे रहता 

ह।ै R और N एक ही फ्लैट में रहते ह।ै D, O से ऊपर और K 

से िीचे रहता ह।ै K फ्लैट-A में रहता ह।ै
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Type of Puzzle :-

• Box based puzzles 

• Floor/lift based puzzles

• Day/ Month/ Year based puzzles

• Age based puzzles

• Puzzles based on  categorization.

• Puzzles based on comparison. (Based on height, color, marks, ages and Seating 

arrangement etc) 

• Puzzles based on Blood Relation.

• Designation based (salary, experience etc)
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Type of Sitting Arragement

•Circular Arrangement

•Linear Arrangement 

•Triangular Arrangement

•Square Base

•Rectangle Base

•Uncertain person Base

•Double circle or Double Square Base 
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Here some Conjunction is also used instead of name of candidate. In that case:

If AND/BUT is used then subject of the previous sentence (name of 

first candidate) will be used.

यदि ‘और / लेदिन’ िा उपयोग दिया जाता है तो प्रथम वाक्य (प्रथम उम्मीिवार िा 

नाम) िे दवषय िा उपयोग दिया जाएगा।
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If WHO/ WHOM / WHOSE / WHICH is used then object of the previous 

sentence (name of second candidate) will be used.

यदि ‘जो / दजसिो / दजसिा’ िा उपयोग दिया जाता है तो दपछली वाक्य (िूसरे उम्मीिवार िा 

नाम) िे दवषय िा उपयोग दिया जाएगा।
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Important points to Start the puzzle

•Gap

•Negative 

•Double / Triple

• Immediate

•Only 
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Seven boxes A, B, C,D, E, F, G  are kept one above 

the other ,different number of chocolates ranging 

from 10 to 90 .Not more than four box are kept 

above A. Two boxes are kept between A and the 

box contains 41 chocolate which is given below box 

A. D contains thrice number of chocolate than box 

B. Box C contains 50 number of chocolate and is 

not keep at the top. The number of the chocolate 

in box G  is a cube of a number .Only one boxes 

kept between the boss 41chocolate and 39 

chocolate. Box D has less number of chocolate 

than A. One of the boxes contains 78 chocolate. 

Five box are kept between containing 64 chocolate 

and box C. Box G is immediately above box E. Box 

D is not kept immediately above or below box B. 

Three boxes are kept between box D and box F. 

Box D is above box F.

सात बक्से A, B, C, D, E, F, G िो एि िे ऊपर एि रखा

जाता है, अलग-अलग चॉिलेट िी सखं्या 10 से लेिर 90 ति

होती है। चार से अदिि बॉक्स A िे ऊपर नहीं रखे जाते हैं। A 

और 41 िे बीच िो बॉक्स रखे जाते हैं। बॉक्स में 41 चॉिलेट

होते हैं जो बॉक्स A िे नीचे दिया जाता है। बॉक्स D में बॉक्स B

से तीन गुना अदिि चॉिलेट िी सखं्या होती है। बॉक्स C में

चॉिलेट िी सखं्या 50 होती है और यह शीषष पर नहीं रहती है।

बॉक्स G में चॉिलेट िी सखं्या एि सखं्या िा घन है। िेवल

एि बॉक्स िो 41 चॉिलेट और 39 चॉिलेट िे बॉक्स बीच

रखा जाता है। बॉक्स D में चॉिलेट िी सखं्या A िी तुलना में

िम है। बक्से में से एि में 78 चॉिलेट हैं। पांच बॉक्स 64 

चॉिलेट और बॉक्स C िे बीच रखे जाते हैं। बॉक्स G बॉक्स E  

िे ठीि ऊपर होता है। बॉक्स D िो तुरंत बॉक्स B िे ऊपर या

नीचे नहीं रखा जाता है। बॉक्स D और बॉक्स F िे बीच तीन

बॉक्स रखे जाते हैं और बॉक्स D बॉक्स F िे ऊपर होता है।
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In a Certain code CAB is written as 3 , LEG is written as 
12 than find the code for MAP ?
एक निश्चित कोड में CAB का कोड 3 लिखा गया है , LEG का
कोड 12 लिखा गया है तो MAP का कोड क्या होगा ?

(1) 13
(2) 14
(3) 15
(4) 17
(5) None of these
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There are eight people A, B, C, D, E, F, G and 

H. They all were born on different years viz 

1947, 1953, 1958, 1967, 1974, 1982, 1994 and 

2002 but not necessarily in same order. But 

the date and month of birth of all these 

persons are same. Calculation is done with 

respect to the year 2017 and assuming months 

and date to be same. The difference between 

the age of A and C is perfect cube. D’s age is 

multiple of 5 but D is not the oldest person. 

The difference of age between D and A is 

equal to age of D. Age of F is equal to the 

difference between the age of D and G. B is 

second youngest among all of them. Difference 

of age between B and H is perfect square.

आठ लोग A, B, C, D, E, F, G, H हैं। वे सभी

अलग-अलग वषों में 1947, 1953, 1958, 1967, 

1974, 1982, 1994 और 2002 में पैिा हुए थे ,लेदिन

जरूरी नहीं दि उसी क्रम में हों। लेदिन इन सभी

व्यदियों िे जन्म िी तारीख और महीना एि ही है।

गणना वषष 2017 िे संबंि में िी जाती है और

अनुमादनत तारीख और महीना समान रहेगा । A और C 

िी आयु िे बीच िा अंतर पूणष घन है। D िी आयु 5 िे

गुणज में है, लेदिन D सबसे बडा व्यदि नहीं है। D और

A िे बीच िी आयु िा अंतर D िी आयु िे बराबर है।

F िी आयु D और G िे बीच िे अंतर िे बराबर है। B 

इन सभी में िूसरा सबसे छोटा है। B और H िे बीच िी

आयु िा अंतर पूणष वगष है।
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In a Certain code BALL is written as 23 , than find the 
code for MAN ?
एक निश्चित कोड में BALL का कोड 23 लिखा गया है , तो MAN
का कोड क्या होगा ?

(1) 25
(2) 39
(3) 44
(4) 28
(5) None of these
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Six people P, Q, R, S, T and U have events on different dates 7th and 12th of 

different months i.e. January, February and March. D has event on even 

numbered date in the month having 31 days. The number of persons have event 

before D is same as the number of persons have event after A. One person has 

event between A and C. F has event before C. B has event just before E.

छ: व्यक्ति P, Q, R, S, T और U के पास अलग-अलग महीिों की 7 और 12 तारीखों अर्ाात 

ििवरी, फरवरी और माचा की अलग-अलग तारीखें हैं। D के पास 31 क्तदिों वाले महीिे में सम 

संख्या वाली तारीख पर घटिा ह।ै D से पहले घटिा वाले व्यक्तियों की संख्या, A के बाद घटिा वाले

व्यक्तियों की संख्या के समाि ह।ै A और C के बीच एक व्यक्ति की घटिा ह।ै F की C से पहले घटिा 

ह।ै B की घटिा E से ठीक पहले ह।ै
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Six people P, Q, R, S, T and U have 

events on different dates 7th and 

12th of different months i.e. January, 

February and March. D has event on 

even numbered date in the month 

having 31 days. The number of 

persons have event before D is same 

as the number of persons have event 

after A. One person has event 

between A and C. F has event before 

C. B has event just before E.
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In a Certain code CBB is written as 14 , FEB is written as 
14 than find the code for HIDE ?
एक निश्चित कोड में CAB का कोड 14 लिखा गया है , FEB का
कोड 14 लिखा गया है तो HIDE का कोड क्या होगा ?

(1) 58
(2) 68
(3) 52
(4) 72
(5) 10
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Ten students namely A B C D E F G H I J of ten 

different college but not necessary in the same order 

have exam of five different days starting from Monday 

to Friday of the same week .Each student have an exam 

of the two different time slot 8:00 a.m. for 11:00 a.m. 

.Only two person sit between F and J. Neither E and G 

does exam on Friday . I have an exam on Tuesday at 

8:00am. H have an exam at 8:00 a.m.. the number of 

person who have exam between G and D is same the 

number of the person who have exam between C and 

H. D does not have exam on any one of the day after E. 

F does not have exam on any of the day after H. B have 

an exam immediately before I. I does not have exam on 

any of the day before G. The one who have exam at 

8:00 a.m. immediate before J. D have exam immediate 

after the day of the one who exam Monday . F does not 

have exam at 11 a.m. Only three person have exam 

between G and E.

िस छात्रों िे िस अलग-अलग िॉलेज िे ABCDEFGHIJ, 

लेदिन उसी क्रम में जरूरी नहीं दि पांच अलग-अलग दिनों

िी परीक्षा एि ही सप्ताह िे सोमवार से शुक्रवार ति शुरू हो।

प्रत्येि छात्र िे पास अलग-अलग समय स्लॉट 8:00 बजे या

11:00 बजे िी परीक्षा है। F और J िे बीच में िेवल िो व्यदि

परीक्षा िेते हैं। न तो E और G शुक्रवार िो परीक्षा िरते हैं।

I मंगलवार िो सुबह 8:00 बजे एि परीक्षा िेता है । H िी

सुबह 8:00 बजे परीक्षा होती है। G और D िे बीच परीक्षा िेने

वालों िी संख्या C और H िे बीच परीक्षा िेने वाले व्यदि

िी संख्या है। D, E िे बाि वाले दिसी भी दिन परीक्षा नहीं

िेता है । F, H िे बाि वाले दिसी भी दिन परीक्षा नहीं िेता है ।

B,I िे तुरंत पहले वाले दिन परीक्षा िेता है । I, G िे पहले

वाले दिसी भी दिन परीक्षा नहीं िेता है । दजसिी परीक्षा सुबह

8:00 बजे होती है वह J िे तुरंत पहले परीक्षा िेता है । सोमवार

िो परीक्षा िेने वाले दिन िे तुरंत बाि D परीक्षा िेता है । F 

िी सुबह 11 बजे परीक्षा नहीं होती है। िेवल तीन व्यदि G 

और E िे बीच परीक्षा िेते हैं।
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In a Certain code READ is written as 7 , than find the 
code for KEAR ?
एक निश्चित कोड में READ का कोड 7 लिखा गया है , तो KEAR
का कोड क्या होगा ?

(1) 02
(2) 03
(3) 00
(4) 01
(5) None of these


